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PART : CHEMISTR
1 Which of the following ions does not show disproportion reaction

(1) CIO (2} ClOz (3) ClOs (4) CI0y
Ans. (4)

L Itdoesnotundergo

Cl0g — > disproporionatiorreaction
Sol.  Hahest i

ctate

2 Density of 3M NaOH is 1.25 g/mL Molality of solution is
(1) 2.79 (2) 3 (3)2.17 (4) 2.65

aAns. (4)

1000 M 1000x 3 3000

= = = = 2.65
M= 1000d—M~MM_,. _ 1000x125-3<40 1130

3 Arrange according to CFSE value

(i) [ColNHz)aF* (ii) [Co(NHz)sF+ (i) [Co(NHz)sF~ (iv) [Colen)sP+

(1) (iv) =(ii) =) =(i)  (2) Giv) =(ii) =>0ii) =() (3} () =) =>(ii) >0v)  (4) (i) > (i) = (i) >(iv)
(1)

Co?*: [Ar] 4s"3d’ | Co*+: [Ar] 4d°

CFSE = Strength of ligand

CFSE « Charge on cation

3

4. 200 mL of 0.2 M solution of NaOH is mixed with 400 mL of 0.5 M NaOH solution. Molarity of mixture is
xx10t xis:
Ans. (4)
Sol. M= 200=0.2+ 400=0.5 =4ﬂ—2ﬂ[}__240rgf
600 600 600 30

0.4M

i

51 : A spectral line is produced upon election transition from 2p« — 2py

S2: 2p« & 2py are degenerate orbitals

{1})51True, S2 False (2] 51 False, 52 True

(3) Both51 &S2 True {(4) BothS1 & S2 False
Ans. (2)

Sol. Since orbitals are degenerate, no spectral line will be produced in transition.
B.

Select the comect staterent :
(1) T, P, d — They are intensive variables {2) V, P, d — They are intensive varables
(3) m, V, P— They are extensive variables {d)m, V, T — They are extensive variables
aAns. (1)
Sol. T, P, d-nensve
m, V - extensive

7. Compare dipole moment

i. MF3 ii. CHCls iii. Hz5 iv. HBr

(1) i =il =iii =iv (2) §i =iii =i=iv (3) i =iii =iv =i (4} iii =1 =iv =ii
Ans. 3
Sol. NF3z =0.23D CHCE=1.04D
H:5 =0.95 D0 HBr=0.79D
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8.

87

Match the colunnn
Column-I Column-Il
.« [EG]
)| = _| (a) Ce
s b) C
(i} | FT, (b) Cv
Ll 'I
:m:l ¥ 'T (cl—=5
(iv) | o ) (d)v
(1) i, ii-a, iii-b, iv-d (2) i-b, ii-d, iti-a, v-C (3) i-d, i, i-b, v-a (4) i, ii-a, iii-d, iv-b
(1)
dG =Vdp - SdT
At constant F, U =5
‘T
iG

At constant T, “_F' =V
i

ol
e ('af 5

Solubility pml:tuct of salt Zrs(POu)s is K.,-.,J then solubility of saltin term of K< is

_"EL"W Ky
(L | 27% 256 E}Eznﬁﬁr (3) | 27% 256 | ¢ }lz?xlﬁﬁ
(1) |
Zri(POa)s == 3Zr* + 4PO
3c £

Kep =(3s)° (45)*
Ksp =27(sP KESE{S:IJ'
s<[sp2)

27x 256 |

Sum of number of 4d elecons in Wb & Ru is
(11)
Mb(5s14d) & Ru(5si4d™)

Statement-1 : Cormosion is an electrochemical process, in which pure metal is present at anode and
impure is present at cathode.

Statement-ll : Corrosion occur foster in alkaline medium than in acidic medium.

(1) Both Statement & Statement-l are true.

(2) Both Statement is true & Statementl is false.

(3) Statement is false & Statement-ll is true.

{4) Both Staterment-l and Statement-ll is false,

(4)

Statementl : Cormosion is an electrochemical process which oxidation of metal take place at anode but
impure metal is not present at cathode.

Statermentdl : Corrosion occur foster in acidic medium.
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Find number of hydrogen in [Ni{DMG):]

(14)

gy v

NE++DMG +NH:OH——— [Ni{DMG)z]
H-bond

H-bond
No. of H-atom =14

13. Given below are two statements
5-1 : Lassaigne test is used for detection of nitrogen, phosphorous, sulphur and halogen.
S-1l : Lassaigne extract is made with magnesium metal.
(1) Both Statement | and statement Il are true
{2) Both statement | and statement |l are false
(3) Statement | is true but statement 1l is false
(4) Statement | is false but statement Il is true

Ans. (3)
CHs=
14. L E._;Efa_*_'?:c-..z.. s Filtrate A
3 MBSO,
i, Fter
A SN
Compound A and B are respectively
OCrOHC =0 cng ONe =0
H( HCl: )z H N 50:H H
(1) ; (2} :
CH=0 COOH CH(OCrOHCk:): COOH

o© - © QO

Ans. (2)
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i N g

_~ONa
Hi CHIOCHOHCI:): CHM‘S{J_:.H
roce . oo L1 ;,.
A
AT
Which of the following has two secondary’ hydrogens.
(1) 2,2, 3, 3-dimethyl pentane (2) 2.2,3 Adimethyl heptane
(3) 4-ethyl-2,2-dimethyl benzene (4) NOT
(1)
Correct order of stability of cation.
(a) EHgﬂ—@— Ch: (b} CHa—@— CHa
C C
H Hz
(©) : (d)
OMe CHz
(1)a=b >=>c =d (2)c=a=d =b (3)a=c>=d=b (4)c =b =a =d

(3)

Tofal number of n-eleciron in a compound with melecular formula CeHs, which adds four moles of H:z
and gives one single product on mone bromination.

(8)
T oA

JEI“—}Q—.E-—.EQ—I"

5\_" Major product
1
Br
Br
(4)

(2)

Radical is most stable
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Sol.

1. Mg, ether /I\/
R_E r 2_'—'354' L
Possible number of position isomers of R—Br, which gives the above product is

(1) 4 (2)3 (3)5 (4) 6
(1)

H\/ $/ /J\I/ Br
Br " Br ¢ Br &)\) SR

Followed by hydrolysis gives the required product.

Which of the following compound can be derived from (D) Glyceraldehyde.

HO—
HO (HO HO HO—
— OH
OH
. OH .. OH— ] — OH
0
(i} i (ii) el (i) i (i) L OH
OH — OH OH CHO

(1)1 &I (2)1, 1 &IV (3)1, 11, 101 (411, 1 & v

(2)



